What are your views on the Moving around activity within the current PIP assessment criteria?

We would like to know what people think about the current Moving around criteria, including the current thresholds of 20 and 50 metres; what they think the impact of the criteria will be; and whether they think we need to make any changes to them or assess physical mobility in a different way altogether.

I think that the threshold of 20m (equates to can move around in the home) and 50m (can have some usable movement outdoors) are reasonable thresholds.  50m is only really useful as a door-to-door by vehicle range; for instance one cannot go shopping or use public transport with a usable range of 50m.

It is the other descriptors that are likely to cause problems.

•          Safely – in a manner unlikely to cause harm to the individual or another person, either during or after completion of the activity.  Consider this in relation to falls; I have limited mobility but can generally walk up to 50m without severe pain several times a day.  If I exceed 50m, say up to 100m, I am considerably more likely to fall , through tiredness and lack of control.  I do not always fall but I trip and fall much more often if I extend past 50m.  When I fall I always suffer pain but I do not always bruise or draw blood.  What percentage does ‘unlikely’ represent?  More likely than not = 51% or higher.  Does unlikely mean less than say 5%?  Therefore if I fell on average 9 times out of ten when I repeatedly walked more than 50m would I be unable to do that ‘safely’?  

•          Repeatedly – as often as the activity being assessed is reasonably required to be completed; How long is a piece of string?  If the activity is ‘moving around’, moving around to do what?  For instance, shopping:  I can leave my house and get into my car, I can drive to the supermarket where there is adjacent parking, and I can then enter the store.  After that, I need to sit and recover, but there are no seats, so I can’t.  Going up and down the aisles of the supermarket is considerably more than I can manage, even with rests (but there is no seating).  So I can’t use a large supermarket.  If I were to go to a smaller supermarket, there is no disabled parking so I have to park further away and walk to the shop, which negates the benefits of a smaller shop.  Accordingly, I cannot shop.  Similarly, I cannot access cinemas because of the distances involved, nor use the train because of the distances to walk at the station.  If I exceed a very modest distance on one day, I am virtually immobile the next day – does this have any impact on ‘repeatedly’?  As the purpose of Moving around is to maintain Personal Independence, there should be some indicators as to what distances are expected to be covered  and for what reason.  At present this is too abstract.
•          In a reasonable time period – no more than twice as long as the maximum period that a person without a physical or mental condition which limits that person’s ability to carry out the activity would normally take to complete that activity.  I walk slowly, but not very slowly.  But the need to take frequent rests, which increase in duration the more repetitions I walk, makes my average speed slower and slower.  My time to 50m would be about 125% of the time for a ‘normal’ person my age, but to 100m probably about 250%, but including the couple of minutes rest that I would need to take between each repetition, total time would rise to about 300% of ‘normal’ time.  Does this mean that 100m would not be achieved because it was not ‘in a reasonable time period’?  Descriptor needs to explain total elapsed time including rests.

•          To an acceptable standard.  This needs more definition – what is ‘acceptable’?  Without falling over?  Without dragging one’s feet?  Without dropping a book balanced on one’s head?

Will this be physically tested, or will it be guesstimated, as at present with DLA Medical Assessments?

When I had my DLA Assessment at home, I moved no more than 15m in the whole period of the examination but the doctor ‘assessed’ that I was able to walk over 200m without serious discomfort.  This was entirely due to an imaginary assessment – ‘do you imagine you can walk to that lamppost at the end of the road?’.  ‘No, I don’t imagine I can.  In fact, I know I can’t because I have to stop much closer than that.’  He still assessed that I could.  After *** years as an infantryman, and therefore an expert witness at judging distance, I could not be expected to judge 200m with any greater accuracy than + or – 50m.  I am certain that a doctor is no better than an infantryman at that task and probably a whole lot worse!  As this will have such a big impact on PIP, a practical test is required, not an imaginary one.  How would the driving test be conducted fairly if the examiner asked ‘do you imagine you can read a normal sized number plate from 66feet?’ instead of ‘Please read me the registration plate of the blue vehicle, which I have measured is parked 66 feet from this position’.  The parallels are obvious but also obviously ludicrous!

I am pleased that this important issue is open to consultation.  I am also pleased that ‘discomfort’ has left the lexicon and ‘pain’ is explicit.  However, if the PIP examination is not to be a farce, when a stranger from ATOS assesses one’s ability with greater weight of evidence than one’s own practical experience, there will have to be a standard test.  Otherwise, there will be no credibility for the assessment and it will be open to widespread abuse just in order to meet targets.  Nobody wants to claim PIP but some people need to; their medical and clinical limitations must be given due weight and not allow an imaginary assessment to over rule them.

*** ***
*** *** *** in receipt of DLA
2

